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Arbeitsaufwand je 1000 DM industrieller Bruttoproduktion 
in sozialistischen Betrieben nach Industriezweigen 1955, 1961 und 1962

Energiebetriehe

Bergbau

Metallurgie

Chemische
Industrie
Baumaterial­
industrie
Schwer­
maschinenbau
Allgemeiner
Maschinenbau

Fahrzeugbau

Schiffbau

Gießereien 
und Schmieden
Metallwaren - 
industrie
Elektrotechnische
Industrie
Feinmechanische 
ü.optische Ind.
Holz-und Kultur­
warenindustrie

Textilindustrie

Bekleidungs-u.Näh-
erzeugnisse-lnd.
Leder-,5chuh- und 
Rauchwarenind.
Zellstoff- und 
Papierindustrie
Polygraphische
Industrie
Glas-u.kerami­
sche Industrie
Nahrungs-u. Genuß­
mittelindustrie
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